Test €. 1, 1. rocnik, maturitni obor, 2. pololeti 4171 Lo T Vzor

1. x?%y? —%xy2 +%xy2 - %xzy2 =

2 body
2. (3x% —2xy +6y%) — (5x2 —4xy + 13y?) + (7x?> —xy + 7y?) =

2 body
3. 3[-(b?—a?) —ab] —[a? —ab — 2(b? + ab)] =

3 body
4. (2a® —3b%)(4a® + b?) =

3 body
5. (2a®x — 4a?x? — 3ax?®)(8a®x — 6ax?) =

3 body
6. 3a’[a-1)—-(a—1]-a(l—-a+a?)—a’+a=

3 body

7. (6m?n—21mn?):(3mn) =

2 body



8. (Bx3+5x2—x+2):(x+2)=

4 body

9. (5x°+7x*—20x3—11x%2+23x—6): (x> +x—3) =

4 body

10. Pro dané mnohocleny uréete stuper a vypocitejte P(—1); T G) ;Q(33);R(1;2)
a. P(x)=2-—5x?

b. T(y)=Zy?+2y

4.5

c. Q(r)= %+ 7r?

d. R(x,y) = %yz +§x + x?

4 body



